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DOW30 19123.58 (+0.01%)
NASDAQ 5323.68 (-1.05%)
S&P500 2198.81 (-0.27%)

NIKKEI225 1830848 (+0.01%)
SHANGHAI 3250.03 (-1.00%)

FTSE100 678348 (+0.17%)
DAX30 10640.30 (+0.19%)
CAC40 457834 (+0.59%)
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WTI 49.44 (+9.3%)
COMEXZ 117390 (-1.4%)

5. MY 2 X &

FAL 198348 (+0.26%)
FAEL 59611 (+0.01%)
9I/2t2)  1169.10 (+0.60)
KTB 109.32 (-0.01)
LKTB 125.37 (-0.05)
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CD(91d) 1.5200% ( 0.00bp)

[=2AY]
1y 1.6470% (-1.40bp)
3y 1.7220% (+1.20bp

)
Sy 1.9110% (+0.40bp)
10y  2.1500% (+1.20bp)
20y  2.1670% (+1.00bp)
30y  2.1550% (-1.20bp)
50y  2.1440% (-1.10bp)

[S2txH]
1y 1.6450% (-1.60bp)
2y 1.7200% ( 0.00bp)
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7. 2

1y
2Y
3Y
5Y
10v

A AmpE

=

-12.25bp (+1.35bp)
-18.00bp ( 0.00bp)
-15.20bp (-2.20bp)
-26.60bp (+0.10bp)
-36.50bp (+0.30bp)

8. IRS/CRS &%

“IRS, 2O =M. M2 HSAIF F

“CRS, #xjog 2 ez Mo 0/

RS 22|
1Y 1.5250% (+1.50bp)
2y 1.5400% ( 0.00bp)
3y 1.5800% ( 0.00bp)
5Y 1.6400% ( 0.00bp)
7Y 1.7000% ( 0.00bp)
10Y  1.7700% ( 0.00bp)
12Y 150 (-1.50bp)
2*3Y 400 (0.00bp)
2*5Y 1000 ( 0.00bp)
3*5Y 600 (0.00bp)
5*7Y 600 (0.00bp)
5*10Y  13.00  ( 0.00bp)
*CRS 22|

1Y 0.9900% (+2.00bp)
2y 1.0500% (+6.00bp)
3y 1.0750% (+6.50bp)
5Y 1.1250% (+8.50bp)
7Y 1.1350% (+8.00bp)
10Y  1.1200% (+5.50bp)

of w2k IRSs2[7t S5 .
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s=-118

CPI(YoY) (0f] &:1.5%, O|74:1.3%)

-118 =& (YoY) (04| 4H:1.2%, O|F:-3.2%) / 118 = (YoY) (0 4:2.9%, O|F:-4.8%)
-118 B 9=X| (0]F:6.97B)
Z=-118 H=Y PMI (0 4h:51.0, 0]X:51.2)
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M= PMI (0f 4h:53.9, 0|F:53.9)
HEX[Z(MoM) (04| 4:0.5%, 0]|7:-0.4%)
ISM XM=& (0 4h52.3, 0|F:52.9)
ISM XM|=¢ PMI (0f] &h:52.2, 0|7:51.9)
M= PMI (0f &4h:54.4, 0|X:54.4)
M= PMI (0f 4h:54.5, 0]X:54.3)

2 M=% PMI (0f &:53.7, 0|X:53.7)

2 AUE (0f45:10.0%, 0|7:10.0%)




